J

e « " ;_ B
\Goua+ L82
3 Net Force Calculations via Energy

1. A model rocket with a mass of 0.65kg is fired straight up with a burn of 2.7 seconds. After the
burn is complete the rocket is at a height of 105m. . \ bl
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a. What is the force provided by the rocket engine? y‘l’ = {' + N '+ ‘ /2071 ) y B
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2. AGerman V-2 missile is fired straight up. The missile has a mass of 10909kg and its engine can
provide 200507N of thrust. (L 0q04.10 = |09 OQON)
a. Whatis the rocket’s speed after traveling for 20sec? Fw
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3. Amissile leaves the surface of earth at 240m/s. - ZoSee &4 = 37920
a. Whatis its maximum height? D LTY
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b. What will its speedFl))eé 100m above the SLijérLf:a_lce? LE / P
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4. A 1000kg car is pushed with 150N for a total of SOM. (Uk = 0.08) (.01
a. How much energy (work) was used to push the car? F. d = E
b. How much work(energy) was done by friction? ™M &l = TE 1600 10,0l 55 =500 T
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How far will the car roll after the 50m mark? T 7 S T
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